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6. Let f be the function defined byl f(x) = cos(2x) + " *.

Let g be a differentiable function. The table above gives values of g and its derivative g’ at selected values
of x.

Let A be the function whose graph, consisting of five line segments, is shown in the figure above.

(a) Find the slope of the line tangent to the graph of fat x = .

We ace qven S difkecenh functions, buk In port
@) we only need Yo use {(x). Ao, we on\y

need +o find the slope (or decivotive) and
not the ertice equadion of o -\mv\%ey\-\ \\ne.

{l(x\ = Cos (Zx\ A ﬁsiv\x Recoll \Jour dec ok we
T T tules and remember

+o use Chain Rule.

—f‘(&\" -Sin (’i&\' AR €<"“M - CosX

Nes¥, we can substtule x =Tt ond solve.

£ ()

*s'm(zw\- 7 4 ff“"“ - COS T

Q-7 v € ()

i



R‘(Tr) = - \}

x| e [ g l( )_
S | 10 | 3 7 hiz)=-
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0ol o 3 7 Ruin
Graph of &
6. Let f be the function defined by cos(2x) + @ I
Let g be a differentiable function. The table above gives values of g and its derivative g’ at selected values l

of x.

Let A be the function whose graph, consisting of five line segments, is shown in the figure above.

(b) Let k be the function defined by k(x) = h(f(x)). Find k’(7). l

s
I pory (b\, we are u.sing h(x\ ond -Q(X\ :
Remember | for h(x) we Slrv«p\\‘ need +o look :
od the <l ope of Yhe %ra\ok.

]4(,(\-: \\(-f (x\\ Aqo;.,\, wokKe Sure +o |
€7 Wse Chon Rule.

L) = R (R - £ |
Nexk  +o Sind L (M) we sub<hiude X=T1 ond
remembe - that §'(w)= -\ Srom port (0.

W) = N (£() - £ |

4 = cos(zm) + 3T > \ve’ s el = 2|




K'(m)= k' (2) - (1) k() = 3 \ ‘
5 () o |
L

W

¥
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v | e | g | ~
s [0 ] 3 / }\(0\ = 0
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6. Let f be the function defined by f(x) = cos(2x) + "%, S |0P€ 0 §

Let g be a differentiable function. The table above gives values of g and its derivative g’ at selected values
of x.

Let h be the function whose graph, consisting of five line segments, is shown in the figure above.

(c) Let m be the function defined by m(x) = g(—2x) - h(x). Find m’(2).

In part (<), we need Yo use Cj(x\ and hi(x).
Remember, We must use Product Rule ond
Chawn Rule. Also, the derivatives tor 36(\

ore giwvx 1o us In the table

me) gl bt R RS

m'(x) = q(-zd W)+ h(X) fj‘('h\ (-2

Next. we Substitube x=2 ond sol\ve.



™(2) = g(z2) - W(2) « W@ - '(2:7) - (2)
WCEEISIRNORSOREIQING

t 0
Find the Wse Find the \ Find the

value in fcom Jolue on Jolue in
P tole.  pork(h). the graph.  the toble.

V) () (4) + (-8) () - ()

~(2) = &—2—) 4(-%

MCEREE T \m'(z\=-'5 \

y
4
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6. Let f be the function defined by f(x) = cos(2x) + "~

Let g be a differentiable function. The table above gives values of g and its derivative g’ at selected values

of x.
Let h be the function whose graph, consisting of five line segments, is shown in the figure above.

(d) Is there a number c¢ in the closed interval [—5, —3] such that g’(c) = —4 ? Justify your answer.



The 5e-\rw? ot tris ques&‘\oh \eods us %o
ik obout one of ouc Yheorems. F’\rs-\'\\/,
%‘ = -4 5 nok %’Wévx oh our ‘avle, but

the able does not list every number on [-5-3)

Secondly, 3' ==Y is an instantaneous rode
ot Q\nm\cya (IKOC\ . So we need 2o %e-k ouy

mind Yo Minki ho obout TROC = AROC.

Q- -
Q’S (-3)(-5) e “

at=-q6sy 2.0 -3y _q

Since %(K\ \S C\\-(v‘%erev\*‘sqb\ﬁ onrd -
Continuous, and the owerage roke of chonge

ot 90) on [-5,-3) is -4, by AT (tneon
Volue Yheorem) there musk be some
¥ value such thak %'(x\ =-{.



